|>

H o

=5 4Y/HIE o[0ix|

.

e

L 2

.
. \C/‘L/

i

b

L I3 X}R| ZaIAE

e
e

x

-1/ 4

S
J

®

© HEINRICH KIPP WERK GmbH & Co. KG

0]

Al
o

°
= ==
gl BY, HIEHZE
o3
VR
PC/ABS
EM OIF2]:
St A2, ElM £2 10| XA,
%, A2M, £ E2 HO|X| A,
e
2 Z4le 223 J2g S5 2, 9, £oof BiREo 2 Mxlg 4
UEE HAE.
47tx| Z7]e| Ctdet = mido| & E. Hag Mg SlitiS o &
H5HA

Nm.

A==0loIM Hel:
ORI UM HFEXITL EB E0{E & & U&LICH
TOE = HoH NS 2 HI|A Eulo

= — L
SR FHUME 28T 5 J&Lch

1=

-

>
2 M

M AT

i
L }
=1
o

LN
03 03 H1 I
s

2 2kl
-t ol
;E --—
oo mjo |
4r
L2t
o
r
o

il
flfo

2or2 LEAN(MS), Z3f HEATI2 HiE M 2lol e x[X| of
efof Zetz|X| ot

Ls 3.

?..
1l

mo 02 Ok
o Ji III-I
1>

y

[0 N

2o =
o 19
u

-

www.kipp.com - info@kipp.com 1/3



°
ALH XXk =ZalAEI XAQOIAI < XS
=N
)
A
YIS ¢\
} \ N
e
el . 5
x : ! ) X
TV SO <
I
.4
L1
L:T,E
12
D1+1,2
2]
[m] 6)\
1) \“*
\\-
E= Q0
FEHS Et EEIEE 2 A4 THE AA A B BT B2 D D1 D2 H H1 H2
K1651.2002356000 B HIZHZ Al ad FEES] 28 60 40 52 50 50 55 355 35 4
K1651.2007356000 B HIZ =2 Al A a4 28 60 40 52 50 50 55 355 35 4
K1651.2012356000 B HIZHZ A A4d A 28 60 40 52 50 50 55 355 35 4
K1651.2017356000 B HIZ S A a4 A 28 60 40 52 50 50 55 355 35 4
K1651.2002356022 B HIEZ A Bl ElM 28 60 40 52 50 50 55 355 35 4
K1651.2007356022 B HIZHZ A EIM M 28 60 40 52 50 50 55 355 35 4
K1651.2012356022 B HIE S A £l ElM 28 60 40 52 50 50 55 355 35 4
K1651.2017356022 B HIZHZ A ElM £l 28 60 40 52 50 50 55 355 35 4
K1651.2002356033 B HIE 24l Ol x| HOlX| 28 60 40 52 50 50 55 355 35 4
K1651.2007356033 B HIE = A IOl X| HIOIX| 28 60 40 52 50 50 55 355 35 4
K1651.2012356033 B HIEZ A t#| Ol x| t#| 0| x| 28 60 40 52 50 50 55 355 35 4
K1651.2017356033 B HIE 24 Ol x| HO[X| 28 60 40 52 50 50 55 355 35 4
K1651.2002356001 B HIEZ 4 A 3E ZdolE 28 60 40 52 50 50 55 355 35 4
K1651.2007356001 B HIEZFA a4 38§ Zdlo|E 28 60 40 52 50 50 55 355 35 4
K1651.2012356001 B HIZHZ A Ad 3E EZ8o|le 28 60 40 52 50 50 55 355 35 4
K1651.2017356001 B HIEZ A a4 3E ZdolE 28 60 40 52 50 50 55 355 35 4
FEHS EfQ] FAHE MA H3 H4 H5 H6 H7 L L1 L2 L3 F=X[&ZH(N) B4 & =2E HQ S=Z0o{ FA(mm) A3F
F1 °C
N
K1651.2002356000 B FZES] 22 26,223392 14 42,93,812,77,2 270 50  -300{A1 60 2-7 M5X16
K1651.2007356000 B a4y 2226,223392 14 42,93812,77,2 270 50  -300{A1 60 7-12 M5X20
K1651.2012356000 B raps 22 26,22339,23,84293,812,77,2 270 50 -300{AM 60 12-17 M5X16
K1651.2017356000 B A 22 26,22339,2384293,812,77,2 270 50  -300{A160 17-22 M5X20
K1651.2002356022 B Bl 2226,223392 14 42,93812,77,2 270 50  -3001A1 60 2-7 M5X16
K1651.2007356022 B ElM 22 26,223 39,2 14 42,93,812,77,2 270 50  -300{A1 60 7-12 M5X20
K1651.2012356022 B El M 22 26,2 2339,23,84293,812,77,2 270 50  -300{A1 60 12-17 M5X16
K1651.2017356022 B Bl 22 26,2 23 39,23,842,93,812,77,2 270 50  -300{A1 60 17-22 M5X20
K1651.2002356033 B H|O| x| 2226,22339,2 14 4293,812,77,2 270 50 -300iAM 60 2-7 M5X16
K1651.2007356033 B Ol x| 22 26,2 23392 14 42,93,812,77,2 270 50  -300{A1 60 7-12 M5X20
K1651.2012356033 B |0l x| 22 26,223 39,23,842,93,812,77,2 270 50  -300{A1 60 12-17 M5X16
K1651.2017356033 B | 0| x| 22 26,223392384293,81277,2 270 50  -300iA{ 60 17-22 M5X20
K1651.2002356001 B 3= Zd0|E 2226223 39,2 14 42,93,812,77,2 270 50  -300{A1 60 2-7 M5X16
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



A EZHR, SAAE, Mo4 I8, BY, HIESZH

ES Y
FEHS Efe] FAE MAF H3 H4 H5 H6 H7 L L1 L2 L3 F=x[2Z(N) ZZ & =2 H? S=xof FA(mm) A3F
F1 °C
N
K1651.2007356001 B =& Z20[E 22 26,2 23 39,2 14 42,93,812,77,2 270 50 -300{A 60 7-12 M5X20
K1651.2012356001 B == ZTI0|E 22 26,2 23 39,23,842,93,812,77,2 270 50  -300{A 60 12-17 M5X16
K1651.2017356001 B =& Zd0|E 22 26,2 23 39,23,842,93,812,77,2 270 50  -300{M 60 17-22 M5X20
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



